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QUESTION PAPER SPECIFIC INSTRUCTIONS

Please read each of the following instructions carefully before attempting questions.
There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5 are compulsory and out of the remaining, THREE are to be attempted
choosing at least ONE question from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the
space provided. No marks will be given for answers written in a medium other than the
authorized one.

Wherever any assumptions are made for answering a question, they must be clearly indicated.
Diagrams/ figures, wherever required, shall be drawn in the space provided for answering the
question itself. :
Unless otherwise mentioned, symbols and notations carry their usual standard meanings.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a
question shall be counted even if attempted partly. Any page or portion of the page left blank
in the Question-cum-Answer Booklet must be clearly struck off.
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Yug ‘A SECTION ‘A’

1.(a) (i) TR & Ugol 9 & Ie T 8 ?
(ii) FHTsiCl (W o) GRT 9 T@d % AR F AeATET 3R B F WK g Fopy o # 2
(iii) B B %, fou g fmr F quife @ s (1, 2, 3, 4) A AHIRET Fif |

(1) What is the purpose of first coat of plastering ?
(i) What loads are taken by the formwork apart from its self-weight ?
(iii) Label the components (1, 2, 3 & 4) of pitched roof shown in the figure. 10

L(b) f3u g u-3-u (3R R f5mam) et & w-sh-ww (afr = fora) st # wfaffa Hiftm
Td st 9o R Ao | v e i wmEmafy R ¥ quf R

Convert the given A-O-A (Activity on Arrow) to A-O-N (Activity on Node) Network
and indicate the critical path. The duration of each activity is shown in the figure. 10
L(c) STRTH 80 m A gl R ¥ o1 (®I%) W T wIEiF, g * Fg F 9 W
1-455 m AT | ST Aot Sl &g A 6 WA e FAHHET 4T, 99 I UBAF 1-487 m
# @ @ | e U WA R e 2 mm R, d qeaed At g @ e w

gatfear s1a i |
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1.(d)

1.(e)

2.(a)

The staff reading taken on a staff held at a distance of 80 m from the instrument
when the bubble central was 1-455 m. When the bubble is moved 6 divisions out of
centre, the staff reading observed is 1-487 m. If the length of one division is 2 mm,
find the radius of curvature and the sensitivity of the tube. 10

FeateR a5 991 & Ud S0 Wed F1 & ¢ frfifaa feafat & fog fie (af@e) @5
3R =1t a9 o o SR

(i) T T (+g,%) F TG UF AR FAGE T (+g,%)

(ii) SETTE T (—g,%) F G Th AR FHGE A (-g,%)

What is vertical curve and its significance ? Draw summit as well as valley curve
for the following conditions :

(i) Upward gradient (+g,%) followed by another upward gradient (+g,%)

(i) Downward gradient (—gl%) followed by another downward gradient (-g,%)

10
. . YT R U Y 300 F d e e 9l ¥ S vSE 202 T R T
UF A 9T W, 2° IFAT % @9 T 50 km/hr R Tg T sifeeraw wR @i
T ? "7 UM 0-166 AT |
A locomotive on M. G. Track has three pairs of driving wheels each carrying

20 tonnes. What maximum load can it pull on level track with curvature of 2° at
50 km/hr ? Take coefficient of friction = 0-166. 10

T B aRET & g A el @ den gutd TR | rferent wiedes foran
£ srafiy 3 w1 sTavae TortifeEt @ ot guidl € | dareEt < s ua dita g
¥ a7 Gared Fraaa sattea S | 9E % o T g SaEy |

srafy HETHA
lERL (femt #) (Tt wfafe)
Activity Duration Resources
(Days) (Masons/day)
L2 -+ 2
2,9 6 3
29 9 4
2,4 2 4
3,4 3 3
4,6 8 4
b 10 2
3,6 8 4

For a small project, the number of masons required is shown. The table also indicates

the duration of each activity along with the masons required. Carry out the resource
allocation with unlimited and limited number of resources. Indicate the advantages and
disadvantages of both. : 20
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2.(b)

2.(c)

3.(a)

e TS R 400 m Beam @@ 200 m &g & U 8fos a3 @ | 9% i meRar ¥ aw
AR AEwES 9w (Fe S%) At f e fmfifad @ wem =y F fio
Fifeg

(i) 100 m %t formr gfee g8 (%eifir aze foeda)

(i) 320 m & Gera srfoream gfee g (sharefe am=e feeda)

e A iR 3 A weRat F A 192 |

There is a horizontal curve of radius 400 m and length 200 m on a highway.
Compute the set-back distances required from the centre line on the inner side
of the curve so as to provide for :

(i) stopping sight distance-of 100 m

(if) safe overtaking sight distance of 320 m
The distance between the centre lines of the road and the inner lane is 1-9 m. 15

Teh S qerdTdl, RER 50 m T A T B S #eA § PR eifd fRam o | 4T B
IS (EETH) UTEATH FAM: 24 mTE 1-4m F |

SURT 1 TR TR, FGTE Tl X@T BAW, 4 ¥ 10 m G QR @fyd o o | 4 w6
B T T W IS FAN: 2-50 m T 1-4m A | &t 3 e 3 F w4 @ B
WIS WIS [ HIQ | B w@AEE ot faiia fifve afy 4 120000 m @ |

A dumpy level was set up at P exactly between 4 and B, 50 m apart. The readings on
staff held at 4 and B were 2-4 m and 1-4 m respectively.

The instrument was then shifted and set up at Q on the line B4 produced at 10 m
from A. The readings on staff held at 4 and B were respectively 2-50 m and 1-4 m.
Determine the staff reading on 4 and B to give a horizontal line of sight. Determine
R.L. of B if that of 4 is 200-00 m. 15

(i) T foAt gR wH=TEy foh sRaeia S U sHere 99 9 UE 3o gReg ¥ R
TR feehrer < &kar 2 |

(i) = @A (SS.) X 9T W T 2° 9 F IR H RE TG G E G w1,
Q959 T TewM, 100 mm ST % a1 Ry I € | 3 <ewmt % fm,
T & IR T AR AN R Aawd Al sagd () R 2
wTfeq | (@ fesd it darg = 2134 m, W@ fosdlt K siorder g = 14785 m,
e il F9TE = 840 mm) |

(i) Explain with neat sketches, how surface and sub-surface water can be removed
from a railway track.

(i) Two high level platforms are to be provided on the inside as well as the
outside of a 2° curve on a BG track with a super-elevation of 100 mm.
What should be the required extra clearances for these platforms, both on the
inside and the outside of the curve (length of bogie = 21:34 m, C/C bogie
distance = 14-785 m, height of platform = 840 mm). 10+10
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3.(b)

3.(c)

4.(a)

4.(b)

wER 130 km R @@, Q@ wEafaq Ry 4 T B 6 IAE AN 225 m @@
1160 m® | S 31 & Aem, WS (WrEe) R Rkt €@ D, g AC =50 km,
W AD = 90 km, 1 IS AW 308 m @ 632 m ¥ | W@ o {6 w1 4 T B
RER 3@ &, T AT N R I WER 9 T & o0, 4 H -HA T
A gL, B R TS (SHRIfee) & = 918 A i |

The altitude of two proposed stations 4 and B 130 km apart are respectively
225 m and 1160 m. The altitude of two peaks C and D on the profile between them
are respectively 308 m and 632 m, the distance being AC = 50 km and AD = 90 km.
Determine whether 4 and B are intervisible, and if necessary find the minimum
height of a scaffolding at B, assuming 4 as the ground station, to make them
intervisible. 15

T IR A aRAe @ e aRefia w3 ¢ dstet. @@ s
figat 6t qaT 3 FQ ? TH oL ILEA, afrsn H fafire S SR |

How do you define an infrastructure project ? How do you compare BOO and
BOOT models ? Draw a typical structure of a BOOT project. 15

25 cm W, 80cm3ﬂaf%§=fmmﬁmaiﬁzm§@'q%m-iﬁ3%
frg, 5000 kg AT FFAR F forg ot B (A IR) & AW T A A
e AR | et 9 B AR e At W WR A 40% AH WA | STE
& g 2.0 om, TN B3 A ITT ATEI T TA Wit AL 1000 kg/om?, T
1400 kg/cm?, T& T dehie # s aRw wfoee 100 kg/cm? € |

Design the size and spacing of dowel bars at the expansion joints of a cement
concrete pavement of thickness 25 cm with radius of relative stiffness 80 cm, for a
design wheel load of 5000 kg. Assume load capacity of dowel system as 40% of the
design wheel load. Joint width is 2:0 cm, permissible shear and flexural stresses in

dowel bar are 1000 kg/cm? and 1400 kg/cm? respectively and permissible bearing
stress in cement concrete is 100 kg/cm?. 20

T 60,000 m? AT B G F gEe K FHa wld m? F P | wgen, seweH,
safirse worrett, forstelt wd o st wEl & fawm @ 7@ w100 97 m? @,
St fregER @ e @

o W 10%, fodm af & 15%, oda a¥ § 20% TF wgd a¥ F A0 = g o |
Y@S 1 3 TR 469 & 5000 Wi m? ® | wew, T, gefta @ wgd o # s
10%, 20%, 20% T 30% S@UE 3% W &, T wied ad § A9 a9 gL q@E o
I % |

TR 1% W | s sftrronst @, af @ @ (S gEE g o), '
&7 ¥ fafau |
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Work out the cost of a plot, in terms of per m? of land measuring 60,000 sq m.
The cost of development for roadways, water supply, sewerage system, electricity
and all other engineering works is Rs. 100/- per sq m, which is spent in following
manner :

First year : 10%, second year: 15%, third year: 20% and fourth year remaining
area. Average market rate for plot is Rs. 5000/- per sq m. 10%, 20%, 20% and 30%
plots are sold in first, second, third and fourth year respectively whereas remaining
plots are sold in fifth year.

Assume the discount rate = 7%. Write your assumptions clearly, if any (like stamp
duty, etc.) 15

4.(c) (i) WREE IR, | dfe () @i F am (fogar) qufsg | #1 & g
diave & 2ferar 25000 forex ar siftres St S== m%ﬁﬁmwﬁwaﬁm% ?
9 IR 0 St fag Hifo |

Indicate (in bulleted form) the advantages of ferro-cement over the conventional
RCC. Can we use the ferro-cement tanks for high capacity like 25000 litres or

above ? Justify your answer.

(ii) Fr # 2ufy TU SRamS & SRt & forg SuTTH (qaTRY) wIg AR iy |
Label the terms (technical) that applies to the door (shown in figure) parts.
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5.(a)

5.(b)

gus ‘B’ SECTION ‘B’

@W%m@—wmmﬁﬁﬁaﬁmw%|m%ﬁmaﬁ%
$r sraftr T 312, 70 mm WRY ST B fr % WA el W H TH 40 mm Tt FeT B
m%m@%ﬁﬁ%lwmmm%mﬁm m/s ®
$fr |

4\
foreaor (m?/s)
Discharge (m3/ s)
kR ,
2 -f---m-mof--- e .
e fromemomnees e ,
0 1 2 3 4 '
19 (h)
Time (h)

A one-hour unit hydrograph of a catchment is shown in the figure. A storm of two
hours duration with intensity of 70 mm/h in the first hour and 40 mm/h in the
second hour occurs over the catchment. Calculate the peak direct surface runoff
value in m3/s. 10

U WA Gl e RN 5o <y femior ffafis i gren & forg v sreamdt SR
7Y ST T § | af R F7 T ARTF 25-8Tel H 571G B Few 3 forg fepar 1
%,eﬁsam%?hﬁmﬁmﬁ@ﬁmshf@qﬁam% ?

A temporary coffer dam is to be built to protect the 5 year construction activity
for a major river valley project. If the coffer dam is designed to withstand the
25-year flood, what is the risk that the structure will be overtopped in the third
year ? 10
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5.(c)

5.(d)

5.(e)

6.(a)

T TG A4l & ARIR rd w R a1 éfost w50 m e R @@ wof vare & Rafa
H 5 mIH Ikl § | ATATE (SREEW) Sfte urE, mtﬁaéésaicrmmtmf%
A4, 5mTes I et @t g | fetw vavar feifa fifse |

A weir across an alluvial river has a horizontal floor length of 50 m and retains
5 m of water under full flow condition. The downstream sheet pile is driven to a
depth of 5 m below the impervious floor of neghglble thickness. Determine the exit
gradient. 10

TH gI% S T T ? TH AN gEH Sia & o smavae sifieet f fadsen
Hrfo | foret o gaes St & =W fafeg |

What is an indicator organism ? Discuss the required characteristics for an ideal
indicator organism. Name any two indicator organisms. 10

R FAA & foTg FAaH 150 mm AT T gATRR Herdh Ao (HieR) seifa € | @
Helsh 7 GRI Falfea frearer i mer Aifsrg, S 98 R/ SR € @1 8 W@ 0-004 F T
R fomn @ ® | &6 & 2 0013 Hifvg |
T HAh T & AT hY T G AT F T H I A R, Sefeh guF W A
freafta smfire St vare s & %9 e ?

Circular sewer of minimum diameter of 150 mm is recommended for the house
connections. Calculate the discharge carried by this sewer, when flowing full, laid
at a slope of 0-004. Take Manning’s n as 0-013.

Why this sewer size has been recommended as the minimum size, when the waste
water discharge from individual household will be substantially less ? 10

TS R & FaueE & g smawas 20,000 m3/d 5 & e & forg @ Frama @,
T STAATRR, TS T 9T &1 S 3 2 1 T I STt Tk 3-5 m S &7, T gl
FAER, 4-0 m $t I A TS & a1y Afrerfeda $ S € | 319 F0 F G
€ H 99 oA & foIC G S| R (G AERwE 1¢) 20 m WfAfeT € | oFt
<l & frame o & ward, e W g | aro @, dfe R, @ s
IAE R H WA hiforg, S fh w359, 10m IR AT @ 6F 10 m3 Wl
5¢ Hfd m BT =1fee | @ € oW & ud frlw 8 R dars @ aed o e %
SRR @A gY At it g femmd fawifa Aifvig |

Two settling tanks — one rectangular, with length to width ratio of 3 : 1 and side
water depth of 3-5 m; and the other circular, with side water depth of 4-0 m — are
to be designed to treat 20,000 m*/d of water required for a city’s water supply.
The surface overflow rate for satisfactory removal of solids is 20 m/d. Determine
the dimensions of the settling zone of the two tanks. Check for retention time,
horizontal velocity and weir overflow rate which should respectively be 3—5 hours,
less than 10 m/h and 6 to 10 m*/h per m. Also determine the overall dimensions of

the basins keeping length of inlet zone and outlet zone equal to the side water depth
of the basin. 20
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6.(b)

6.(c)

7.(a)

et YT st € fF S aefe e snfReem A (SeE) @ am
A SRS 7R (H3E,) A & auE @ e, Wﬁmsnuaﬁrw-am
2 | 37 Wa 3 & T FRT E ?

Although it would be expected that the value of the ultimate carbonaceous BOD
would be as high as the COD, this is seldom the case. What are the reasons for the
observed differences ? 15

mwuﬁm(ﬁzﬁ)%ﬁqq&wmmﬁm’mﬁafﬁaﬁﬁmlmgﬁ
15% Td Sl i 10% % |

.. wEA AR HTA CER-REELI FHATEHA &
(fe=t #) (hect/cumec) (FFRW)
SI. No. Crop Base period Duty at field Area under crop
(days) (hect./cumec) (hect.)
el 360 800 6500
Sugarcane
.- EXIG 200 1400 4200
Cotton
3. T 120 1800 3100
Wheat
4, EIEE] 120 900 3200
, Rice
5 wfesar 120 700 1100
Vegetables

Determine the storage capacity of a reservoir for the given cropping pattern, canal
losses are 15% and reservoir losses are 10%. 15

576 IR F TH &7 & SToRad F Ach o ToIT Teh ol AT T SAfeheae fopar ST
2 | vioa st P T 0-06 m wafed & forg A i sravs g w1 16w
T TF A F f=1-0 F Tord Tueielt ufsse F o & g Fraifa i |
WEuraT &t o o hife |

An open drain is to be designed to prevent waterlogging for an area of 576 ha. Given

that the drainage coefficient is 0-06 m/day, determine the capacity of the drain
required and the dimensions of the trapezoidal section with side slopes 1 : 1 and
Lacey’s f=1-0. Also, compute the slope. 20
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7.(b)

7.(c)

8.(2)

T 0-5 m TE F FAT TF FRag Fearel @i, o aa s 97 9 99 4 150 m
i 2, @ ot &7 A SAERE wRaT ® | 6:0 m®/min W fime B féR & v foRd ST
R, 3 e i H 10 m T 50 m o o7 gt W ferd ey (F8Te) $hET: 10 mTd
sme | FU A sy &t faifa fifm |

A 0-5 m diameter well fully penetrates an unconfined aquifer whose bottom is
150 m below the undisturbed ground water table. When pumped at a steady rate
of 6-0 m3/min, the drawdowns observed in two observation wells at radial distances
of 10 m and 50 m are respectively 10 m and 5 m. Determine the drawdown in the
well. 15

fire 71 2 7 fie 9 g W smawEE € ? Harad afast ware fiie IR & arg afd
frraere gftrat Tt smaws © ? i fire SR & g wfa e gforar =1 smaws
T8 & 7 fire R F 1y ST o At TRl 1 wifa frees gfat % am fafeg |

What is grit ? Why is it essential to remove the grit ? Why velocity control devices
are essential with unaerated horizontal flow grit chambers ? Why are the velocity
control devices not required with the aerated grit chambers ? Name any two velocity
control devices used with grit chambers. 15

3000 km? 39T & & fou g us StA-fawmsis & Qi (Sfe) At @ ger ar i
FaE (L) 125 km 7t St R | o) R U fovg, StoS@-fawed g & e @
wftaam &, @ el & g0 (L) 90 km ATt STt ® | Sror-fasrstas & for el feaaien
C, =075 C,=275% |

ol-fasrorh & fofe =TT U Ueie siaed @ fefafaa s feg o € awt sEfy
tg =12 h, 1ot et vt (AT A7), t, =34 h T A e, g =135 m*/s. em.

m%mﬁﬁmmm%mgﬁﬁq@cpﬁaﬁmﬁml

From the basin map of a given watershed with drainage area 3000 km?, the length
of the mainstream (L) is measured as 125 km. The distance (L,) from the outlet
to a point on the stream nearest the centroid of the watershed area is measured as
90 km. The regional constant C, for the watershed is 0-75 and C, = 2-75.

From the unit hydrograph derived for the watershed, the following are determined :
rainfall duration tg = 12 h, basin lag t x = 34 h and peak discharge Qpr = 135m?/s. cm.

Determine the coefficients C, and C, for the synthetic unit hydrograph of the
watershed. 20
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8.(b)

8.(¢c)

S 3N AT T -5 F, T Aomreg 7 &, 36 fafim s 1 gof g,
auia Fiforg |

Describe municipal solid waste sanitary landfill with a schematic diagram showing
its various components. 15

$.3E.U, w2006 % SR TH GRASET H wEfReia @iy wem e @
wifsar 1 "erg & avia fiferg |

Briefly describe the process for the award of environmental clearance for a project
according to the EIA Act 2006. 15
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